
T V  M O U N T S



TABLE OF CONTENTS

FIXED TV WALL MOUNTS 3-4

TILT TV WALL MOUNTS 5-7

ARTICULATING TV WALL MOUNTS 7-11

KSL is a modern Ukrainian factory. Our specialty - 
mounting solutions for Digital Signage industry.

The history of KSL began in 2009. Since then we have 
designed and manufactured numerous professional 
solutions for different Digital Signage projects.

Our partners know that we solve the hardest tasks.

In-house manufacturing facilities allow us to control 100% 
of operations. Our R&D department regularly rolls out new 
models as well as improves the existing model line.

Our Quality Control lab extensively tests each new product before it enters mass production. Each batch of finished products undergoes 
quality testing before it leaves the factory. We only use materials that meet international standards. This is the way we guarantee consistent 
high quality of our products.

SYMBOLS

MAXIMUM WEIGHT LOAD

DIAGONAL

THE DISTANCE FROM THE
WALLVESA (MIN - MAX)

TURN

TILT ANGLE

1010

ГАРАНТІЯ                  ГАРАНТИЯ           
    

 W
AR

RA
N

TY

yearsyears



3

EASY INSTALLATION

VESA

ЧТО НУЖНО ЗНАТЬ, ЧТОБ ПРАВИЛЬНО ВЫБРАТЬ КРОНШТЕЙН

Диагональ вашего телевизора

Вес вашего телевизора

Расстояние между крепежными отверстиями 
на задней панели вашего ТВ

Сравните характеристики вашего телевизора 
с характеристиками кронштейна

VESA

ЧТО НУЖНО ЗНАТЬ, ЧТОБ ПРАВИЛЬНО ВЫБРАТЬ КРОНШТЕЙН

Диагональ вашего телевизора

Вес вашего телевизора

Расстояние между крепежными отверстиями 
на задней панели вашего ТВ

Сравните характеристики вашего телевизора 
с характеристиками кронштейна

VESA

ЧТО НУЖНО ЗНАТЬ, ЧТОБ ПРАВИЛЬНО ВЫБРАТЬ КРОНШТЕЙН

Диагональ вашего телевизора

Вес вашего телевизора

Расстояние между крепежными отверстиями 
на задней панели вашего ТВ

Сравните характеристики вашего телевизора 
с характеристиками кронштейна

WHAT YOU NEED TO KNOW TO CHOOSE 
THE RIGHT TV MOUNT:

1 2

3 4

28EP

FIXED TV WALL MOUNTS

Vesa (min - max)           75х75 - 200х200

Diagonal	                              19–43”

Maximum weight load (kg)	        25

The distance from the wall (mm)          29

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 4 pcs.

Screw 6х60 - 4 pcs.
Washer М8 - 4 pcs.

Your TV’s diagonal

Your TV’s weight

The distance between the mounting 
holes on the your TV



4

48EP

Vesa (min - max)       200х200 - 400х400

Diagonal	                              32-65”

Maximum weight load (kg)	        25

The distance from the wall (mm)          29

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10x50 - 8 pcs.

Screw 6х60 - 8 pcs.
Washer М8 - 8 pcs.

FIXED TV WALL MOUNTS

68EP

Vesa (min - max)       200х200 - 600х400

Diagonal	                              40-82”

Maximum weight load (kg)	        45

The distance from the wall (mm)         29

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10x50 - 8 pcs.

Screw 6х60 - 8 pcs.
Washer М8 - 8 pcs.



5

TILT TV WALL MOUNTS

11EN
 10

0 

 55 

 75 
 100 

 75 
 10
0

 

52

Vesa (min - max)             75х75 - 100х100

Diagonal	                               13-28”

Maximum weight load (kg)	         15

The distance from the wall (mm)          52

Tilt angle                                        -5°/+15°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х12 - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

27EN

Vesa (min - max)       100х100 - 200х200

Diagonal	                              19-43”

Maximum weight load (kg)	        25

The distance from the wall (mm)          52

Tilt angle                                        -5°/+15°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.



6

TILT TV WALL MOUNTS

28EN

Vesa (min - max)           75х75 - 200х200

Diagonal	                              19-43”

Maximum weight load (kg)	        25

The distance from the wall (mm)          62

Tilt angle                                        -5°/+15°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 4 pcs.

Screw 6х60 - 4 pcs.
Washer М8 - 4 pcs.

48EN

Vesa (min - max)       200х200 - 400х400

Diagonal	                              32-65”

Maximum weight load (kg)	        25

The distance from the wall (mm)          62

Tilt angle                                        -5°/+15°

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapter - 8 pcs. 

  
FOR MOUNTING TO THE WALL:

Dowel 10x50 - 8 pcs.
Screw 6х60 - 8 pcs.
Washer М8 - 8 pcs.



7

68EN

Vesa (min - max)       200х200 - 600х400

Diagonal	                              40-82”

Maximum weight load (kg)	        45

The distance from the wall (mm)          62

Tilt angle                                        -5°/+15°

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapter - 8 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10x50 - 8 pcs.

Screw 6х60 - 8 pcs.
Washer М8 - 8 pcs.

КРОНШТЕЙНИ З КУТОМ НАХИЛУ ДЛЯ ТВ ARTICULATING TV WALL MOUNTS

11ET

 50 

 13
0 

 100 
 75 

 75
 

 10
0 

65

Vesa (min - max)           75х75 - 100х100

Diagonal	                              13-28”

Maximum weight load (kg)                   15

The distance from the wall (mm)         65

Tilt angle                                       -5°/+15°

Turn                                                       60°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х12 - 4 pcs.

Allen key  - 1 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.
Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.



8

12ET
 13

0 

 50 

 75 
 100 

 75
  10

0 

65...255

Vesa (min - max)              75х75 - 100х100

Diagonal	                                13-28”

Maximum weight load (kg)	           15

The distance from the wall (mm)   65 - 255

Tilt angle                                          -5°/+15°

Turn                                               180°/180°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х12 - 4 pcs.

Allen key  - 1 pcs.
Plastic clam - 2 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.

ARTICULATING TV WALL MOUNTS

13ET

 13
0 

 50 

 75 
 100 

 75
 

 10
0 

65...405

Vesa (min - max)              75х75 - 100х100

Diagonal	                                13-28”

Maximum weight load (kg)	           15

The distance from the wall (mm)   65 - 405

Tilt angle                                          -5°/+15°

Turn                                      180°/360°/180°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х12 - 4 pcs.

Allen key - 1 pcs.
Plastic clamp - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.



9

25ET

Vesa (min - max)          100х100 - 200х200

Diagonal	                                 19-43”

Maximum weight load (kg)                       25

The distance from the wall (mm)            67

Tilt angle                                          -5°/+15°

Turn                                                          40°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Allen key - 1 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.

ARTICULATING TV WALL MOUNTS

26ET

 10
0 

 10
0

 

 20
0 

 
10

0 

 20
0 

 20
0

 

 13
0

 

 50
 

67...256

Vesa (min - max)          100х100 - 200х200

Diagonal	                                19-43”

Maximum weight load (kg)                      25

The distance from the wall (mm)     67-256

Tilt angle                                         -5°/+15°

Turn                                               180°/180°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Allen key - 1 pcs.
Plastic clamp - 2 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.



10

27ET

Vesa (min - max)          100х100 - 200х200

Diagonal	                                19-43”

Maximum weight load (kg)                       15

The distance from the wall (mm)     65-405

Tilt angle                                         -5°/+15°

Turn                                      180°/360°/180°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Allen key - 1 pcs.
Plastic clamp - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 3 pcs.

Screw 6х60 - 3 pcs.
Washer М8 - 3 pcs.

Plastic stub М6 - 3 pcs.

ARTICULATING TV WALL MOUNTS

28ET

Vesa (min - max)               75х75 - 200х200

Diagonal	                                 19-43”

Maximum weight load (kg)                       25

The distance from the wall (mm)     93-558

Tilt angle                                          -5°/+15°

Turn                                       180°/360°/180°

FOR MOUNTING TO THE TV:
Screw М4х12 - 4 pcs.
Screw М6х30 - 4 pcs.
Screw М8х45 - 4 pcs.

Washer M4 increased - 4 pcs.
Plastic adapter - 8 pcs.

Allen key - 1 pcs.
Plastic clamp - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 10х50 - 4 pcs.

Screw 6х60 - 4 pcs.
Washer М8 - 4 pcs.

Plastic stub М6 - 4 pcs.



11

ARTICULATING TV WALL MOUNTS

48ET

40
0 

20
0 

30
0  

21
4

300

110 - 565

468

Vesa (min - max)          200х200 - 400х400

Diagonal	                                 32-65”

Maximum weight load (kg)                       40

The distance from the wall (mm)   110-565

Tilt angle                                          -5°/+15°

Turn                                      180°/360°/180°

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapte - 8 pcs.

Allen key - 1 pcs.
Plastic clamp - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 12x80 - 6 pcs.

Screw 8x80 - 6 pcs.
Washer М8 - 6 pcs.

Plastic stub М8 - 6 pcs.

49ET

200 - 400 

40
0 

20
0 

300 

 
21

4

120 - 475 

468 

30
0 

Vesa (min - max)          200х200 - 400х400

Diagonal	                                 32-65”

Maximum weight load (kg)                       50

The distance from the wall (mm)   120-475

Tilt angle                                          -5°/+15°

Turn                                       180°/360°/180°

FOR MOUNTING TO THE TV:
Screw М6х30 - 4 pcs.
Screw М8х20 - 4 pcs.
Screw М8х45 - 4 pcs.
Plastic adapte - 8 pcs.

Allen key - 1 pcs.
Plastic clamp - 4 pcs.

FOR MOUNTING TO THE WALL:
Dowel 12x80 - 6 pcs.

Screw 8x80 - 6 pcs.
Washer М8 - 6 pcs.

Plastic stub М8 - 6 pcs.




